Multiple Choice - Circle the letter that BEST answers the statement.
1. Which of the following statements is FALSE? Canada is the largest per capita user of energy because: (KU)

2. The ecozone in which we live is called: (KU)

3. The largest oil producing province is: (KU)

4. The three types of conventional energy sources are: (KU)

5. Heat stored within the earth is used as fuel to generate ________ energy. (KU)

6. Which one of the following is a non-renewable resource? (KU)

7. Which one of the following activities depends on a non-renewable resource? (KU)

For each of the following products (Q. 8–11), indicate whether it is made primarily from (KU)

(a) renewable resources or

(b) non-renewable resources

8. When developing an industrial site, a nearby waterfall would be most important (KU)

to provide speckled trout for workers
9. Which sector of the economy makes things? (KU)

10. Canada’s first economic activities were mostly centred on the following types of industries: (KU)

For each of the following occupations (Q 15–19), indicate whether the work being done is classified as part of (KU)

(a) primary industry

(b) secondary industry

(c) tertiary industry

11. Fossil fuels are always found in: (KU)

12. Underground mining is done when the mineral is: (KU)

13. Which forest cutting method is the cheapest? (KU)

14. A survey which collects Canada’s population information is called: (KU)

15. Canada’s population density is _?_ compared to other countries in the world. (KU)

16. Which is NOT a push factor? (KU)

17. A population pyramid is most similar to a… (KU)

18. When people are younger than 15 or older than 65, they belong to a group called… (KU)

19. A person’s mother tongue is… (KU)

20. The various ways people use the land is called… (KU)

21. Which is NOT a factor in population change? (KU)

22. Which is a low-order service? (KU)

23. Farming, residential areas, wildlife refuges, businesses, & industries are examples of… (KU)

24. Which natural resource does the hydroelectricity industry use? (KU)

25. Alternative energy sources include… (KU)

26. You are visiting Cranbrook, BC (Mountain) and you want to talk your parents who live in the Ottawa area (Eastern).  If it is 5:00 pm in Cranbrook, what time will it be at your parents’ house? (KU)

27. You are flying from Gander, NFLD to Vancouver, BC.  Your flight leaves at 4:30 am. The duration of the flight is 6 hours and 30 minutes.  What time (Pacific) will you be landing in Vancouver. (KU)

28. Which one of the following map scales would show the greatest detail in a landscape? (KU)

29. What is the name of the line of latitude that divides the world in half? (KU)

30. What is the name of the line of longitude that divides the world in half? (KU)

Use the population pyramid from the year 2000 to answer questions 40 - 44 below:

31. The percentage of Canadians in the 15-19 age bracket was approximately: (A)

32. The percentage of Canadians in the 65-69 age bracket was approximately: (A)

33. Which group is the largest according to this population pyramid? (A)

34. The bulge in the middle of the pyramid is due to… (TI)

35. The reason for the base of the pyramid being smaller is due to: (TI)

Answer questions 45 – 48 using the following climate graph:

36. The temperature range at this station is: (A)

37. The pattern of precipitation at this station is best described as: (TI)

38. The type of climate represented by this graph is most likely: (TI)

39. The average annual temperature of this station is around: (A)

Answer questions 49 – 51 using the following graph:
40. The growing season at this station is: (A)

41. The number of months the precipitation is in the form of snow is: (A)

42. The temperature range for this station is: (A)

Use this map to answer questions 52 - 54:

43. Which of the following locations exists due to a railway? (TI)

44. Which of the following locations exists due to a waterway that was used by the forest industry? (TI)

45. Which of the following locations exists due to the intersection of two roads and it’s proximity to water? (TI)

Questions 55 – 57 are based on the map below
46. Which of the letters on the map can be found at 153°W, 14°S? (A)

47. Which of the letters on the map can be found at 39°E, 48°N? (A)

48. All of North America is located in what hemisphere (s): (A)

Questions 58 – 63 are based on the map below:

49. What is the contour interval on the map above? (A)

50. Which of the following spot heights, is not on this map? (A)

51. In which direction does Fairmont Creek Flow? (A)

52. What answer BEST describes the shape of the land in this area? (TI)

53. In which direction would a crow fly from the campsite to Fairmont Hot Springs? (A)

54. The crow then decides to fly back to the campsite and he uses a compass. What bearing would he take to get back to the campground? (KU)

55. Which landform region has the oldest mountains in Canada? (KU)

56. Which landform region has the youngest mountains in Canada? (KU)

57. Which landform region in Canada has a rainforest? (KU)

58. Which landform region in Canada is made up of flat layers of sedimentary rock? (KU)

59. Which landform region do you live in? (KU)

Pick ONE (1) of the following items to describe how the resource(s) extracted from the primary industry progresses through each of the economic industries (primary, secondary, & tertiary).   

First Nations Modern Issues (TI = 3; COM = 5)
The Canadian public feels like the government is doing a poor job managing First Nations issues.  Some of the issues are healthcare, housing, education, employment and substance-abuse.  Write a 5-sentence paragraph (intro, facts, & conclusion) about the government’s poor job with 3 supporting facts from what you learned in this course:

Trade – Imports & Exports (APP 10)
In the following table there are items that Canada Imports and Exports. Provide a reason for why Canada has to import each item and a reason for why Canada is able to export each item.

Global Warming (KU = 3, APP = 3)
Global Warming means there will be more extreme weather and air pollution. Your ecological footprint makes a difference. Choose THREE (3) of the green solutions below and describe the geotechnology associated with them that Canadians can use to reduce our footprint on the world.
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